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18 B FE4 REER FELEDE wmE
1 —feEXE
1 BiEE - e 1 HBHaEE 3,199, 000 2,435, 000 -164, 000
2 BmIREEES 1,371,000 1,044, 000 -327, 000
I XREHES 506, 000 506, 000 0
2E5ESME 1 EXsmE 94, 000 0 -94, 000 [sata - mHaman
INET 5,170, 000 3,985,000 -1, 185, 000
HXEEEE
1 BiEE - e 1 HBHaEE 382,000 206, 000 -176, 000
2 mIREAEE 68, 000 36, 000 =32, 000
INET 450, 000 242,000 -208, 000
ZAREXIEEEE
1 BEE - HEE 1 tAEHEEE 6, 588, 000 5,080,000 -1, 508, 000
2 EmIREAMAES 1,162, 000 897, 000 -265, 000
2 EXSNE 1 EESME 1, 500, 000 365, 000] -1, 135, 000 |w-Tectimesains - weBsiq KT o fiiES
INET 9, 250, 000 6, 342,000 -2, 908, 000
EEEEHLEEXE
1 8i8E - € 1 mBHaiEE 680, 000 -680, 000
2 BIREMAES 120, 000 -120, 000
INET 800, 000 -800, 000
EFAVEREEE
1 BEE€ - HEE 1 HEBHaEE 550, 000 -550, 000
2 BIREAES 100, 000 -100, 000
INET 650, 000 -650, 000
Z DU A
1 ZDith 1 ZDith 1,000 95 -905|menaz
INET 1,000 95 -905
AIHAIR S
1 AT RS 1 BTHARES 5, 876, 440 5, 876, 440 0
INET 5,876, 440 5, 876, 440 0
=5 22,197, 440 16, 445, 535 -5, 751, 905
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1 —BEXE
[ EE S 1 B%% 950, 000 328,489 621,511 [ et re® e
2 BERIFHRINEE 40, 000 41, 360 1, 360
S MBEHGEEE 130, 000 130, 000 0|z - BmEHA
2 HREEE E4 400, 000 79,298  -320, 702|#ma - mxamam
2 ERERE 100, 000 181, 563 81, 563 |masrmmrn
JHEMEE 50, 000 0 =50, 000
4IRE - REBEE 50, 000 16, 900 -33, 100[z=2me
b EHEHBE 2, 250, 000 1,914, 565 -335, 435
6 BEREE 1, 300, 000 1,292,105 -7, 895|smmmais
INET 5,270, 000 3,984,280 -1, 285,720
2 MMEEXE
1 HEHEIRESE 1 HEHEHE 350, 000 230,000  —120, 000|” F/*1 ¥ —manTE ]
2 k& - RBE 50, 000 0 =50, 000|7 /31 v—ik#
SEEE 50, 000 11, 800 -38, 200|207 k51 v—izmaEm
INET 450, 000 241, 800 -208, 200
3 RIMIXIEEXRE
1 RAMXIEEX 1 Bip& 4, 000, 000 2,192,000 -1, 808, 000|zx&nRAtHE~DBMKS
2 EhPREZE 1 HER 3,400, 000 3, 443,000 43, 0002 7—z 0w
2 EEE 2,550, 000 0| -2, 550, 000 | - @iz - w5z
3 LHRE 700, 000 706, 031 6, 031 |eBtreg 4 K7 v HempEns
3 HHEE % 1 EBXE 100, 000 0 -100, 000
INET 10, 750, 000 6, 341, 031 -4, 408, 969
4 EFEEHEESXE
1 BAR2EE 1 EEE 800, 000 -800, 000|t0=< ypsmEz
INET 800, 000 -800, 000
5 \MBREXE
| BEFREEEREX| | HEE 250, 000 -250, 000|z%% 5 vomewexE
2 BFHERRER 1 EEE 400, 000 -400, 000|mie1 > 5—2s v rsmensmmaans
INET 650, 000 -650, 000
6 FimE
1 FliE& 1 Flie& 4,271, 440 0| -4,2717, 440
INET 4,271, 440 0| -4,2717, 440
=1 22,197,440 | 10,567,111 | 11,630, 329
RHpgE 5,878,424
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| MEFARMAEEE
1 BB% - BYS 1 T aES 7,950, 000 7,950, 000 0
2 I RBHaES 550,000 550, 000 0
INE 8,500, 000| 8, 500, 000 0
2 ZOHBYLA
1 ZDih 1 ZDih 1,000 53 -947|mE27a
INEt 1,000 53 947
3 AIEpfRHE
1 AIERR = | BIERRME 1,703,484| 1,703,484 0
2 BIRRER1EHE 0 0 0
INEt 1,703, 484| 1,703, 484 0
&% 10, 204, 484| 10, 203, 537 947
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Vsvvyy BASEBIRE 2 | 1 B & 8,500, 000f 9,096, 000 596, 000
2 EHERE 10, 000 6, 600 -3, 400 |2 F 28, EVRIL
INEE 8,510,000 9,102,600 592, 600
2 Fim&
1 F&E& 1 F&EE& 1,694, 484 0] 1,694, 484
INEE 1,694, 484 0] 1,694, 484
=1 10, 204, 484] 9,102, 600] -1, 101, 884
REAfGEEE 1,100,937
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1 &i8e - HEE 1 B REE 2,350,000 | 2,350,000 (|phnnuEs wHARS EEA
2 EIREMAES 500, 000 500, 000 O|azans
2EXSME | REEESME 250, 000 353, 300 103, 300 (%) BEE®RI —2% (4~1R
2 EHIEES ME 100, 000 237,000 137, 000
3HAHEEESME 300, 000 442, 000 142, 000
INEt 3,500,000 | 3,882, 300 382, 300
2 ZOHIIA
1 20t | 1 2ot 1,000 40, 174 39, 174|RERE, Al -7 -2 2R
NG 1,000 40, 174 39, 174
3 RIS
| HEsS | 1 sisiemns 2,669,936 | 2,669,936 0
N5t 2,669,936 | 2,669,936 0
&5 6,170,936 | 6,592, 410 421, 474
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1 HEEXE 1 SEEnSE 400,000 | 1,174,948 774, 948 [ umamemmie
2 FEERIRE 0 0 O|memikse - Brisien
3 BH B 100, 000 148, 604 48, 604]mmr = - s
4 [FEMHE 100, 000 13,200 -86, 800 [s=smisss
5ARETER 100, 000 5,522 -94, 478
2 HEEEE 145 3,000,000 | 2,995, 852 —4, 148|271« x—5—t5. #2rBEE
2 WmMBRE Y — 2% 600, 000 629, 882 29, 882
3 WIS 100, 000 0 ~100, 000 s, wusn
4 EHERE 400, 000 432, 844 R L —
N5t 4,800,000 | 5,400, 852 600, 852
2 PinE
| FihE | 1 3& 1,370, 936 0| -1,370,936
/INgt 1,370, 936 0| -1,370,936
&3t 6,170,936 | 5,400,852 [  -770,084
REAFEPE 1,191,558




